DODGE BET

1
2
’—g-‘ A.2
= B... D1 +0.05m/ m
19) C... +0.2m/ m
0.5m/ m
kg-cm kg
M3 M4 M5 M6 M3 M4 M5 M6
SB- 3001 | SB- 4001 | SB-5002 | SB- 6002 SB- 3001 | SB- 4001 | SB-5002 | SB- 6002
18 25 43 52 ABS 57 78 120 180
19 31 51 62 63 100 150 180
20 31 53 65 90 120 155 185
=
EB
D° D284 D! L1 L2 t
M2x 0.4 4.0 3.3 3.0 3.0 2.6 0.4 FB- 2001
4.5 3.8 3.5 4.5 4.0 0.5 FB- 204545
D2 M2.6x 0.45 5.0 4.3 4.0 5.0 4.5 0.5 FB- 2601
_t) Ds (M2.5x 0.45) 5.5 4.8 4.5 5.5 5.0 0.5 FB- 2602
_ _| M3x 0.5 5.5 4.8 4.5 3.0 25 0.5 FB- 305530
5.5 4.8 4.5 5.5 5.0 0.5 FB- 3001
- - _— 5.5 4.8 4.5 8.0 75 0.5 FB- 305580
6.5 5.3 5.0 4.0 35 0.5 FB- 306540
6.5 5.3 5.0 5.0 4.5 0.5 FB- 306550
6.5 5.3 5.0 6.5 6.0 0.5 FB- 3002
Ds D1 D2
6.5 5.3 5.0 9.0 8.5 0.5 FB- 306590
Md4x 0.7 6.5 5.8 5.5 35 3.0 0.5 FB- 406535
6.5 5.8 5.5 6.5 6.0 0.5 FB- 4001
u u —= 8.0 5.8 5.5 8.0 7.1 0.9 FB- 4003
6.5 5.8 5.5 10.0 9.5 0.5 FB- 4065100
- 8.0 6.8 6.5 5.0 4.5 0.8 FB- 408050
8.0 6.8 6.5 8.0 7.2 0.8 FB- 4002
M5x 0.8 8.0 6.8 6.5 8.0 7.2 0.8 FB- 5001
10.0 8.3 8.0 10.0 9.2 0.8 FB- 5002
M6x 1.0 10.0 8.3 8.0 10.0 9.2 0.8 FB- 6001
M8x 1.25 13.0 11.3 11.0 9.0 8.0 1.0 FB- 8001

AdRIMarn



DODGE BET

D! D? 4. L+o1
M1.4x 0.3 3.0 3.3 25 SB- 1401
3.0 3.3 3.0 SB- 143030
M1.6x 0.35 3.0 3.3 4.0 SB- 163040
M1.7x 0.35 3.0 3.3 2.5 SB- 173025
3.0 3.3 4.0 SB- 173040
35 3.8 4.0 SB- 173540
M2x 0.4 3.0 3.3 15 SB- 203015
3.0 3.3 2.0 SB- 203020
3.0 3.3 25 SB- 203025
3.0 3.3 3.0 SB- 203030
3.0 3.3 3.3 SB- 2001
3.0 3.3 35 SB- 203035
3.0 3.3 4.0 SB- 203040
3.0 3.3 4.5 SB- 203045
3.0 3.3 55 SB- 203055
3.0 3.3 6.0 SB- 203060
3.0 3.3 8.0 SB- 203080
35 3.8 3.0 SB- 203530
35 3.8 4.0 SB- 203540
4.0 4.3 3.0 SB- 204030
4.0 4.3 5.0 SB- 204050
4.0 4.3 6.0 SB- 204060
4.0 4.3 7.0 SB- 204070
M2.6x 0.45 35 3.8 25 SB- 263525
(M2.5x 0.45) 35 3.8 3.0 SB- 263530
4.0 4.3 2.5 SB- 264025
4.0 4.3 3.0 SB- 264030
4.0 4.3 35 SB- 264035
4.0 4.3 4.0 SB- 264040
4.0 4.3 5.0 SB- 2601
4.0 4.3 6.0 SB- 264060
4.5 4.8 35 SB- 264535
4.5 4.8 4.0 SB- 264540
4.5 4.8 5.0 SB- 264550
4.5 4.8 7.0 SB- 2602
M3x 0.5 4.5 4.8 2.0 SB- 304520
4.5 4.8 3.0 SB- 304530
4.5 4.8 4.0 SB- 304540
4.5 4.8 4.8 SB- 3006
4.5 4.8 5.0 SB- 304550
4.5 4.8 6.0 SB- 304560
4.5 4.8 7.0 SB- 3001
4.5 4.8 8.0 SB- 304580
4.5 4.8 9.0 SB- 304590
4.5 4.8 10.0 SB- 3007
5.0 5.3 3.0 SB- 305030
5.0 5.3 35 SB- 305035
5.0 5.3 4.0 SB- 305040
5.0 5.3 5.0 SB- 305050
5.0 53 5.3 SB- 3004
5.0 5.3 6.0 SB- 305060
5.0 5.3 6.5 SB- 3005
5.5 5.8 3.0 SB- 305530
5.5 5.8 4.0 SB- 305540
5.5 5.8 5.0 SB- 305550
5.5 5.8 6.0 SB- 305560
5.5 5.8 7.0 SB- 3002
5.5 5.8 9.0 SB- 3003

T > [ ™
5 b ~ ] | SB-4001Z |
AL > [ ™ ™~
NI NG I N
>~ [~ ™
I N
™
D! D% L:o1
M3.5x 0.6 5.0 5.3 6.5 SB- 3503
55 5.8 7.0 SB- 3501
55 5.8 9.0 SB- 3502
M4x 0.7 55 5.8 3.0 SB- 405530
55 5.8 4.0 SB- 405540
5.5 5.8 5.0 SB- 405550
5.5 5.8 5.8 SB- 4005
5.5 5.8 6.0 SB- 405560
5.5 5.8 7.0 SB- 4002
55 5.8 8.0 SB- 405580
55 5.8 9.0 SB- 4001
6.0 6.3 5.0 SB- 406050
6.0 6.3 6.0 SB- 406060
6.0 6.3 8.0 SB- 406080
6.0 6.3 12.0 SB- 4006
6.5 6.8 5.0 SB- 406550
6.5 6.8 6.0 SB- 406560
6.5 6.8 7.0 SB- 406570
6.5 6.8 8.0 SB- 4003
6.5 6.8 11.0 SB- 4004
M5x 0.8 6.5 6.8 3.5 B- 506535
6.5 6.8 55 SB- 506555
6.5 6.8 6.8 SB- 5004
6.5 6.8 8.0 SB- 5002
6.5 6.8 11.0 SB-5001
8.0 8.3 5.0 SB- 508050
8.0 8.3 9.0 SB- 5003
M6x 1 8.0 8.3 6.0 SB- 6003
8.0 8.3 9.0 SB- 6002
8.0 8.3 13.0 SB- 6001
M8x 1.25 11.0 11.3 13.0 SB- 8002

AdRMarn



